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I Analysis of 27's ruling that we are not sure if ™5 are “ny”, therefore we do not seize 2"1nn from them
a 9”1 repeated previous analysis; challenged by par 92 »mR "
i challenge: the 4 y"inn in a vineyard, 3 in a grain field and 2 in an orchard have no nxin naw
1 details: of these 9 mann
(a) vineyard: v19, MYy (v. 1), MW (v. 2 — PINR) and nra (inferred via PanR::INR from olives — v. 3)
(b) grain: nRa, vPY (v. 4) and MMV (v. 5)
(c) orchard: nRa (Wan ®Y) and NNHW (PINR — both v. 3)
2 and: are all seized from the owner — even if he is an "y himself
(a) no N7 Na1w: as all use NTY, not NN
3 but: »y 2wyn, which may be seized even from 7y, has Nk naw (i.e. he may choose the beneficiary)
(a) reason: verb used is nym
(b) seizing from 2. per RYOR "1 — 7 is written in all cases, following v. 4 which is directed even to »y
4 however: 2"nn, for instance — Mann — are not seized from "% to Y or from 113 to 113
(a) inference: they are seized from "% to jna->clear that they are not "oy”
(b) defense: 11 is given as example — but it doesn’t apply to niann
(i) application: to NYRY VYN (taken from "Y to 112)
(if) challenge: 7"yn belongs to "%
1. answer: per ¥"aR1, who rules (against ™) that 7"yn is also given to 112
2. challenge: he only allows to be also given — not exclusively
a. answer: after Xy “fined” the oY (for not making n»%y) — all given to jn3
b. challenge: even at that point, we give to 103, but don’t seize from "5
(iii) application: similar to »131 — 130 MWRY is the application
ii  challenge: Rn>11 — anything which has nv17p — e.g. "M1IN — we seized from "% to 1n3; anything which has not nwTp -
e.g. M1 — we do not seize (implication — they are not "ny”)
1 defense: “like Y11 but not Y1t = 7"vn, after R1Y’s "fine”
iii ~ challenge: our nywn — if one slaughters on behalf of 112 or non-Jew, exempt
1 implication: for a "% or YR, obligated - ©Y are not "ny”
2 correction: for 587w — obligated, but for % — exempt
(a) challenge: if so, should read “for »% (1" for 1n3) and for "y exempt”
(b) furthermore: explicit ruling —for 103 and n"2Y — exempt; for "% and Y87’ — obligated
iv 37 would have to admit that the status of 0% is disputed, in re: 2”0y 93 (v. 6) (2 mn»1a dispute oy there)
1 37 isunsure if 1290 is like the one &N 1 or the other
v final ruling (70271): n35n follows 11 and also n™ (no financial liability for minn)
II x5y — gave 2"1nn to a NN (102 Na- even if married to Y1)
a  challenge (X¥37): application of v. 7 — we may eat nina nnn - mnd~=1n3
b defense (¥51p): in 103 nnin NIy, the reference is to 1121 19108 (men only) — not mentioned in re: 3NN
¢ alternate (»12717): the word 103 excludes nins; 274 mention in v. 8 is a VIYN INR VIYN > N17 (including Nand)
i stories: DnaN, who were non-n71n3 would eat 2"inn via their mn> wives
d w227 reported that ann ruled like 171 and n™ (above), like 891 (here) and like X”aR1 — n"1Y’s son is exempt from 1”779
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I xn2: mann as they apply to various hybrids
a  p’m they apply to both n’x%3 and "2
b »”r they apply to a mix of billy-goat and lamb are liable; but not to a billy-goat with a doe
i analysis: we’ve already established (in »»>nn p19) that their dispute is about nw nx¥pn "ar — NV
1 in other words: they agree that we are unsure if we are concerned about the identitity of the father
2 disagreement: is whether nw (for minn) includes even a “partial” nw
ii  therefore: we understand &, who requires full nw = no mmnn
iii  however: 1327 should only obligate %2 mann, and let the Y7’ require the 173 to prove that we are arn »% vwIN
1 answer (871 72 81177 77): indeed, p"n’s “2»n” means liable for half
2 challenge (¥7r 7): > ,n:2 D N1 — NI is treated like a n'n for some things, like nnna for others etc.
(a) like 7minz: there is a mann 2vn (R™ dissents, applying n”ynn)
(b) answer: since the rest of the niwn used absolute terms (190X 119N etc.) — used 27N, but meant Mnn ’*xna 1»n
¢ dissent: Ny "1 (reported by 1227) — 1327 claim full liability for minn from »2
i reason: MW (v. 8) Dox; MY DR 2 WRYI. nw->lamb; nw DR > RY (full liability)
1 ~77:uses oR for ;> n (liability even if only slaughtering lamb or ox)
2 a7 infer ;m»n from narn 'nar (nar is singular — one slaughtered animal)
(a) ~77 marn naw nrn is used per X171 — the 112’s claim is on the nav, not the owner
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